
1

1

2

2

A A

B B

5/9/2011 8:07:02 AM Last Saved By dmjohnson 
TimeStamp

Reference File: C:\Inventor Workspace\Inventor 
Files\Ferrell-Ross\K100-01600-1699\K100-01694.iam

K1
00

-0
16

94

CAD
NO MANUAL
CHANGES
TOLERANCES

EXCEPT AS
NOTED

FRACTIONAL:

ANGULAR:

FINISH:

TITLE:

DATE:

SCALE: DRAWN BY:

SIZE: SHEET:PART NUMBER:

APPROVED BY:
DIVISION OF A. T. FERRELL COMPANY BLUFFTON, INDIANA - USA

DECIMAL:

AllenG DMJ0.08:1

GUARD ASSY, DRIVE 2 HI RH VF 9C 44.1", 12"

12/17/2010 B of1 1 

xxx ± .005
xx  ± .030

± 1/32

± 1/2

TOUCH UP PAINT

This drawing is the
property of the A.T.

Ferrell Company, Inc
and must be returned

immediately upon
request.  No part of this

drawing may be
reproduced, stored in a

retrieval system or
transmitted in any form

or by any means,
without prior written
consent of the A.T.

Ferrell Company, Inc K100-01694

STRAP, DRIVE GUARD, 2HI, 12"1K200-0900315
BACK PLATE WLDMT, 2-2 DRIVE GUARD 2 HI 12"1K200-0812014
BACK PLATE WLDMT, 1-2 DRIVE GUARD 2 HI 12"1K200-0811913
DOOR WLDMT, DRIVE GUARD, 2HI 9C, 12"1K200-0811312
COVER WLDMT, DRV GD, LWR 2HI RH VF 9C 44.1", 12"1K200-0800511
COVER WLDMT, DRV GD, UPR 2HI RH VF 9C 44.1", 12"1K200-0800410
SPACER, GUARD, 2.75" 12"4K200-043449
NUT, HEX SERR LOCK 3/8-162667844008
WASHER, LOCK HELICAL 3/8"4664444007
WASHER, LOCK HELICAL 5/16"29664438006
WASHER, FLAT, 5/16" TYPE A25664038005
WASHER, FLAT 3/8" WIDE TYPE A3663944004
HHCS, 3/8-16 X 4.00"4625844513
HHCS, 3/8-16 X 1.25"2625844262
HHCS, 5/16-18 X .75"29625838171

DESCRIPTIONQTYPART NUMBERITEM

NOTES:
1. DO NOT SCALE FROM DRAWING.

REVISION HISTORY
REV ECN DESCRIPTION DATE APPROVED
A K110022 SEPERATED INTO 2PCS FOR EASE OF MFG & ASSY 2/3/2011 SH
B K110062 UPDATED ASSY, ADDED HARDWARE AND SPACERS 3/21/2011 SH

10

11

5

6

1

12

14

13

1

6

482
15

9 3 7

824

12

165

(2.75)

9


